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INGENIEURS DES TRAVAUX DES TELECOMMUNICATIONS

AOUT 2012
ANSWER ALL QUESTIONS
SECTION A: GRAMMAR (10 marks)
L Put the verbs in brackets in their correct tenses. W i-‘e“;\he aﬁs :

spaces provided. (5 marks)

1- Had it not been for the intervention of and order

thedemonstrator............
2- When we arrived at MrZambo's, his wife told for Buea an
hour before. (for leave) y

3- Our Geography teacher taug the moon
..................................... round the earth.
. 4- When I went tomy village,
schools......ovvvvvnne (to build)

5- John went to the US

for example, many

time tomorrow, he

1L Choose the correct wor. : s 'to MI in the blank spaces. (Smarks)

1- The starter of the Spoiltythere iS4 ................. we can do, we'd better go
on foot (anythir g,

\t\ile art in children's education, ................ should teachers.
...leg was broken was taken to hospital. (Which, whose,

walking to work because of poverty. (areused to,

the introductions. (Made, to make,

VOCABULARY (10marks)
-~ Complete the following sentences with a suitable word or expression such
that@éach sentence makes sense. (5marks)

1- There are two kinds of fertilizers: organic fertilizers from living matters and
INETALSIOT wovsornosisisvessesisisesivesisins fertilizers from lifeless substances (chemical,
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composed, compost)
2- Thanks to progress in telecommunications, it is now possible to link one computer
inCameroun with another in Canada through the (wireless, internet, modem).
3- Three babies out of twenty die each year in some parts of Afiica............ has éiﬁge )
rife in our society (child death, children death, infant mortality).
4- If it rains tomorrow, the meeting will surely be to....... a later date. (put off, put on.
out) ﬁ
5- Etoube was very strong; his .......... was such that no villager could®beat hi
strength, fear) A 9

B
3- The child jumped from a height of se
an adjective) ...cccveeeeiniieieeeceee ey
+ 4-Of the two answers, Peter's was the better éne. & t:gposite)
SECTION: CCONIPREHENSION (1O

Read the passage carefully an below it in complete and correct English

sentences. Use your own

o treat it quickly before it spreads and drifts far. Slicks are
with detergent chemicals. The effect is to, emulsify the oil,

|nto\% bubbles. These bubbles are then attacked by bacteria which are
the oil is literally digested

,ﬁiectivness makes it much cheaper in terms of the cost of treating a given area of oily water.

* This may do little to allay the fears of the conservationists. They say detergents cause mare
damage to plants and animals than oil does. While they agree that the process speeds up the
dispersal of the oil, they argue that-bacteria would eventually de the same thing without the
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hazards introduced by detergents. Perhaps the final claim for this new product will satisfy the
conservationists. Laboratory tests have pronounced it safe to marine animals.

QUESTIONS

1- Why is oil pollution a problem in 0CeaANS? .......cccceeieciieriicninrceeeeee e
2-How do people prevent a problem big oil spills from causing much damage?
Explain how detergents speed up dispersal of the oil ...
3- According to the manufacturers, how is SYNPERONIC OSD20 an imp

e following topics

)4

1) Modem technological developments ore harm than good. Do you agree?

2) Imagine that you the minister of enviro ech that you will deliver onwhat people
should do to, protect our environme

3) The problem of unemployment; i L y want to write about causes, effect, and

possible solutions.

4) Why | will like tobecome engineer.
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COMPREHENSION DE TEXTE

La chasse est en Afrique un sport agréable parce que le gibier abonde, mais das
parce qu’'on se laisse facilement entrainer au-delad de l'instant raisonnable auquel
s'arréter...

Il y'a quelques années, un groupe de voyageurs descendit un matin po as
rive gauche trés giboyeuse entre Tombouctou et Bourem. I était accompag%e}d' chasset
giboyeuse entre Tombouctou et Bourem. Il était accompagné d'un ¢ asg‘eur dupays. IIs se
prédirent. Le chasseur revient seul, guidé par les coups d
titaieiltppur servir de signa de ralliement aux deux absents.

Il raconta que son compagnon avait refusé de le su
séparés pour s'en aller chacun dans sa direction qu'il ¢

1l f était ,mort de soif

cune des phrases suivantes sur le modele:
L'organisation du secours

Le chat fuit
-On dévalue la monnaie

u'ils s'étaient
e-Au‘bout de trois des
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GRAMMAIRE
Complétez les phrases suivantes a 1’aide de la conjonction de subordination qui convient :
Au cas ou tellement que, dés que, pour que, parce que.

11 est fatigué il a trop travaillé
Bébé pleure maman lui donne le
Le chasseur rentre la nuit tom

Le riais j’ai di sortir de la salle

Je voudrais tu viennes

informerais.
Rédaction
Traiter le sujet ci-dessous en 205 a

Vous avez poursuivi un vole




	1
	2
	3
	4
	5



